I i ' Al M Al RO® B H= 1

1.1 #XLT BERLIREAI m2 3,626.0 3,630
FERTIEA m3 725.2 730

BHER L IEM m3 361.6 360

HERTIER AL m2 4,216.6 4,220

HEEIR i) m2 4,216.6 4,220

2, FAEHMT REMBRET 3000 x 2000 x 900 (EEhR) &1z 1 1
3. BKBT RIE m3 165 20
ROEHE ARt m3 29 3

BERL AL m3 13.6 10

EKBT VP ¢ 250 m 05 1

VP ¢ 200 m 05 1

VP ¢ 150 m 05 1

VP ¢ 100 m 19.2 19

VP ¢ 75 m 8.2 8

WFEMEE % 1 1

4, %EHT 7377 m3 46 5
ROEHE HAm Rt m3 0.4 04

BERL pidzz m3 22 2

Bt RAL m3 0.3 0.3

EKBT VU ¢ 350 m 1.0 1

VU 75 m 05 1

VU ¢ 50 m 28 3

WFEMHE =® 1 1

HIBHRET £l 1 1

FTRAI7IVNEGEET BAEZHEAs t=5cm m2 30 3

BT RC-40 t=20cm m2 14 1

AsEHEE IR U B As t=15cm m 54 5

SEREE As t=10cm m2 30 3

B NEE =% 1 1




+T —=
7 # H = W 2

PHEFR A 546.32 565.24 + 50.49 50.49
t=200 154.53 + 594.66 + 620.10 + 145.61

131.58 186.66 118.80 158.40 3626.0 m”
BHER HRHA 546.32 565.24 50.49 50.49

154.53 + 594.66 620.10 145.61

131.58 186.66 118.80 158.40 725.2 m3
HEESR 546.32 + 565.24 50.49 50.49

186.66 + 118.80 158.40 0.2 361.6 m3
PHESR LR 1084.20 + 1071.69 + 1019.92 + 1040.82 4216.6 m°
t=110
HHELE I (BRED) 1084.20 + 1071.69 + 1019.92 + 1040.82 4216.6 m”




M T —3t
7 # g =X #n =
A NFL 3000 X 2000 X 900 (JEEHR) 1 1
RIBERH 1 B1520 X H500 X 2
AIEERE 1 B1700 X H150
e W300 n=2
Pyl 2.78 X 3.718 = 10.508 [ 10.51 m®
RC-40 t=200
a7 —h 268 X 3.68 X 0.25 = 2466 | 2.47 m
18-8-25
7810
D13 258 X 0.995 X 26 = 66.74 | 0.07 t
D16 3.58 X 1.560 X 24 = 134.04] 0.13 t
Rl 268 X 2 + 3.68 2 )X 025 = 3.18 3.2 m
' H IV 248 X 3.48 X 0.02 = 0173 | 0.17 m®

1:3




EKEBT —=
. g 2 H =
PR Y 0.6 X( 05 + 0.5 0.5 19.2
0.5 X 82 16.52 | 16,5 m’
b ELHiE 0.1 X( 05 + 0.5 0.5 19.2
AR R+ 8.2 ) 2.89 | 29 m’
HERL 05 X( 05 + 0.5 0.5 19.2
s E 0.4 X 8.2 13.63 | 13.6 m’
B L VP ¢ 250 0.5 0.5 m
VP ¢ 200 0.5 0.5 m
VP ¢ 150 0.5 0.5 m
VP ¢ 100 19.2 | 19.2 m
VP ¢ 75 8.2 8.2 m
RLyHh—2 a4 b ¢ 250 1 .
B o ¢ 250X ¢ 200 1 1 1
HEV v ¢ 200X ¢ 150 1 1 1
B ok ¢ 150X ¢ 100 1 1 &
BEV 7ok ¢ 100X ¢ 75 1 1 fE
17 RUR ¢ 100 1 1 ]
0T _UR ¢ 75 1 1 ]
Yok ¢ 100 3 30 A
Yok ¢ 75 2 2 A
PERFRT—h 28.9 [ 28.9 m




pin AN —=
7 # g = # =
AR Y 0.7 X( 1.0 + 05 + 28 )+ 1.6 4.61 46 m’
b KR 0.1 X( 1.0 + 05 + 28 ) 043 | 0.4 m’
ARk B+
HEL 05 X( 1.0 + 05 + 28 ) 2.15 2.2 m
WAz
%t 0.30 | 0.3 m’
WAz o
BT VU ¢ 350 1.0 1.0 m
VU ¢ 75 0.5 0.5 m
VU ¢ 50 2.8 28 m
KLt —Ta4 0 ¢ 350 2 2 1
BARF—X 350X ¢ 75 1 1 1
B ¢ T5X ¢ 50 1 1 1iE
PNV Ak 1 1 &
PR IR —h 4.3 43 m
T 7)—h 1.50 X 2.00 X 0.15 + 1.50 X 0.15
21-8-25 X 0.20 X 2 + 170 X 0.15 X 0.20
X 2 0.642 | 0.64 m’
P ( 150 X 2 + 200 X 2 )X 0.35
+( 1.20 X 2 + 170 X 2 )X 0.20 3.61 3.6 m
BlLarr)—r 1.60 X 2.10 X 0.05 0.168 | 0.17 m’
18-8-25
i ( 160 X 2 + 210 X 2 )X 0.05 0.37 | 0.4 m°




AR
RC-40 t=200

AR
D13

4y KA

e

45° AR

T AT 7 )L RNEEE T
HAEBERIEEAS
t=bcm

AT
RC-40 t=20cm

EAE RO B
As t=1bcm
Vo) /K AL
L HES

As t=5Hcm

IR ALEE T

1.70 2.20
1.38 0.995
1.86 0.995
1.88 0.995
2.36 0.995
¢ 100

VU ¢ 100

¢ 100
54 X 0.0017
3.0 0.05

11

3.740

5.49

20.36

7.48

18.79

0.8

3.0

1.4

5.4

0.01

3.0

0.15

3.74

0.01

0.02

0.01

0.02

0.8

3.0

1.4

5.4

0.01

3.0

0.2




